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Quantities in Chemistry Practice Test

** read the questions carefully and answer on the FULLSCAP **
Make sure to show FULL solutions, including ALL equations and UNITS.

1. Calculate the number of sulphur atoms in 10 g of plumbic thiohyposulphite. [5]

2. Calculate the percent composition by mass of manganese(IV)perborate.. [7]


3. A compound is found to contain 40.03 % carbon, 6.67 % hydrogen, and 53.30 % oxygen.. The molecular formula mass was found to be 180.18 g/mol.

(a) Calculate the empirical formula of the compound. [7]

(b) Calculate the molecular formula [4]


4. Using the table below, calculate the number of water molecules in a hydrate of barium chloride, BaCl2(xH2O .  [8]
	Mass of clean dry 

test tube
	18.42 g

	Mass of test tube and hydrated barium chloride
	20.75 g

	Mass of test tube and contents after heating
	20.41 g



5. Potassium chlorate, KClO3(s) decomposes when heated to form solid potassium chloride and oxygen gas. How many molecules of potassium chlorate must decompose to produce 0.96 g of oxygen? [8].

6. Table salt, NaCl(s), can be formed by the reaction of solid sodium metal and chlorine gas. Calculate the mass of excess reactant left over from a reaction mixture that contained 45.98 g of sodium and 50.0 g of chlorine. [15]


7. Solid iron and gaseous carbon dioxide are produced from refining iron ore, solid iron(III)oxide, by heating the ore with gaseous carbon monoxide. If 635 kg of iron is obtained from 1150 kg of iron(III)oxide, what is the percentage yield of solid iron? [11]
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